aShford

WHEELS & LOOMS
INSTRUCTIONS

16 SHAFT LOOM STAND

Tools Required Hint

AV,
% \
Wrench \2 Hammer Screwdriver,

To make assembly
easier use candle
wax on the screws.

CANDLE WAX

\
¥ =

E l'/: , -

2. Make sure the rounded end of the
sides are facing down. The holes for the
buffers on the base of the loom should
be facing up.

1. Using 4 x 50mm/2” screws each
side, attach the sides to the spacer
rails. Make sure the 2 spacer rails are
the same length. Use candlewax on the
screws to make assembly easier.

5. Assemble the other 2 legs and spacer
rail with 2 x 50mm/2” screws each side.

4. Take the spacer rail with the Ashford
logo on it and the 2 legs that correspond
with the holes in the spacer rail and
attach them with 2 x 50mm/2” screws
each side.

7. Lay the loom stand base on it’s side and place the
top of the stand in position - make sure the front of the
shelves are at the opposite end of the spacer rails with
the Ashford logo.

Attach the legs to the top frame with 4 x 50mm/2” bolts
through from the inside. Tap the heads of the bolts into
the wood and secure with washers and knobs.

8. Locate your Sixteen shaft loom onto the base and
you are now ready to weave.

Ashford Handicrafts Limited Ashford Guarantee
415 West Street, Ashburton 7700, New Zealand

Telephone 64 3 308 9087

sales@ashford.co.nz www.ashford.co.nz

Hardware included

@ 6 x washers
2 x nyloc nuts
4 x knobs

20 x 50mm (2”) screws

4 x 50mm (2”) bolts
2x75mm (2”) bolts

3. Attach the shelves using 2 x
50mm/2” screws for each shelf.

6. Position the legs with the wooden
spacer between them, then insert the

2 x 75mm/3” bolts through from the
outside. Tap the heads of the bolts into
the wood and then secure with washers
and nyloc nuts.

LSSS610-030522V4

Thank you for purchasing this Ashford product. In the unlikely event there is
any fault in manufacture, please contact the dealer you purchased it from. To
validate the guarantee, please go to www.ashford.co.nz/product-registration




